Huépa Qpa | Opada Mabnpa
, Al.a | M\npodopikn
= A 2" , :
< EutEpa Al.B Owiakn Owovouia
<< , n Al.a | Owiakn Owovouia
A 5 ;
:E: Eutepa Al.B MAnpodopikn
S , n Al.a | NMAnpodopikn
n 3 p
~ RN Al.B | Texvoloyia
, Al.a | Texvohoyia
M 3" ;
apackeun Al.B MAnpodopikn
Huépa Qpa | Opada Mabnpa
, A2.a | MAnpodopikn
N(A 6" . ;
< Eutepa A2.B Owiakn Owovouia
<< , n A2.a | Texvoloyia
Mn 2 ;
:E: Skl A2.B MAnpodopkn
S ) n A2.a | NM\npodopikn
Mn 4 p
~ apaokeun A2.B | Texvoloyia
, A2.a | Owiakn Owkovopuia
n 5" S
apackeun A2.B MAnpodopikn
Huépa Qpa | Ouada Mabnpa
, A3.a | MAnpodopikn
M A 3" , ,
< Evtepa A3.B Owiokn OwovopLo
<< , n A3.a | Texvoloyia
A 4 :
:E: EUTEPL A3.B MAnpodopkn
S , n A3.a | M\npodopikn
Mn 5
~ EHTtn A3.B | Texvoloyia
, A3.a | Owiakn Owovouia
n 7"
apackeun A3.B MAnpodopikn
Huépa | Qpa | Opada Mabnua
Ad.a KENO
S A S 7"
< EUTERA A4B Ow. Owov.
< . n Ad.a | KENO
T
t / A4.B | Texvoloyia
S|P ooy
> . n Ad.a | Texvoloyia
= | Mewnm / A4B | KENO
Ad.a Ow. Owkov.
Mn . 6"
apack A4B | KENO

Tuqpa | Opada | Huépa | Qpa
B1 Bl.a | Tpitn 51
B1.p | Asutépa | 5"
B2.a | Tetaptn | 5"
B2 : -
B2.8 | Tpitn 3
B3.a | Tetaptn | 6"
B3 : -
B3.8 | Aeutepa | 7
B4.a | Tetdptn | 7"
B4 : -
B4.B | Aeutépa | 6
B5S.a | Mopaok.| 6"
B5 : -
B5.8 | Tpitn 6
M.a |Mapaok.| 7n
r : .
. | Neumtn 6




